Group Number:

FINAL REVIEW - TRUE, FALSE, OR NONSENSE?

For each statement below, decide as a group whether it is true, false, or nonsense (i.e.
its truth cannot be evaluated, because some or all of the terms are used incorrectly).
Write T, F, or N on the line. If a statement is true, explain briefly. If it is false or
nonsense, make a slight adjustment to it so that it makes sense and is true. Turn in

one copy per group.

(1) T The following system of linear equations is inconsistent:
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dy J_ If Aisan nxn matrix’such that A7 is invertible, then the product of the eigenvalues
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E Given three functions a(t), b(t), and ¢(t), continuous and defined on (—oo, oc), the
dlﬁ(,n,ntldl equation a(t)y’ + b(t)y = ¢(t) has exactly one solution defined on (—o0,00).
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(5) “Z H i, Ny rnn} 1‘4 a ba».m for V, then A = ( T T ) must be a square matrix.
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(6) A/ For any three vectors u, 7, and win R", (u-7) -w=u- (v - w).
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(7) I' 1f A is an n X n matrix, and {v1,...,T,} is a set of eigenvectors with distinct
elﬁenvalue% then A is diagonalizable.
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_IfAand Barenxn ma,me:,b |A+ B|=|A| +|B|.
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